#3913 A 4| 3]
2021. 6. 10.(%)

<10

- 20203 A

A E H 3 A

(Hiol2&ra=)



= N

HO| 2= g

[0 20203 A= SRAEE AYASZE 99 A
1. QUHEB]A| wreeerreressssesssssmsssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssssnns /
A QYA AE e /
A E T AF e /
— A H] AIB] e /
A AFR G e /
— G AFO] R erererrrsrerisesies s /
G H] H] cereeereeresnes s /
O] G AFQIH] rerreerrenrsene s /




re
ol

od

{lo

1. kS A

I

<l

Melid

A9
S A

ol
<!
W
oH

A

]

SIA Al

)

H

—

o

I

B/

O

= A% 20203 A

oy

—_

O Hho] 2.4

589 3,0565F 114, B

]

o

P
T

909 8,056%F 11 Y

on

B

AH 919 5,182%¢

914 3,482

2= (@)
g

O

49

) O©
| & 8
S | © | =
3| _ _
4
JI{IN
= S B S
= ™ N~ N~
E 508 B 8
) & | & €
|8l g -
o5 ~ =
= S 3 S
@ | ™ ~ N~ ~
I | Q| 2 Q3
— o) o2 @ N
K0 &0 4R|uy AO.. % —
fail — oy} o2
for) N~ —
o~ 8| 8 8 8
=9 5 | 8 < Y
Ll 8| 8 N e
S ml® % N S —
~ — o))
(o)) N~ —_
_I_l_ nn_un O _ _
o
Kl o
g8 8 8 8
d. g8 & 2
< ® M o~ F
= N O 1
S5 ~ o
) o
IH _ | = 3l i~
= <J ol 0J
i
+ o m
o K0 =)
=] <) -




<HIE S&>
(5l - =)
HEE Ol &F -
o Off &R ERL =4 OH = ALtOH | = = 0|2 LtoH
9 (Gb+©)

Al 9,080,561,000 0/9,080,561,000(9,151,823,310/9,134,827,310 0/16,996,000

Ml 2] = gl 5,830,561,000 -1 5,830,561,000| 5,901,823,310| 5,884,827,310 116,996,000

2 & =1,000,000,000 - 1,000,000,000{ 1,000,000,000/ 1,000,000,000 B -
EEPYIE

T E’— ) <EDH 2,250,000,000 -1 2,250,000,000] 2,250,000,000/ 2,250,000,000 - -

Msda

O o] e4td= &3 20209 AAE WA AFdite o4t
Y 4429 6,584%F 37 42| 99.23% ¢l 3 FEE 4399 2,509%F
oddol A=HAL 013% sF3t= 58508 o] old =
Ao 0.63% siEst= 29 82248 3ol A
o2 TS =

<HY HE>
(29 : &)
o & o X3
TE | OMEN | TEN | e

& H - |44,265,848,000 43.925,009.900| 58,500,000 58500000 0| 0] 282,243,070|0.63%
Bt Ol 2 & 1) 31,392,681,000| 31,126,899,230] 58,500,000{ 58,500,000 - = 206,281,770] 0.6
51 & o1 2 1 8,743,955,000] 8,668,506,600 - - A - 75366400] 086
HIOIQAICHTIIDH 4,129,209,000] 4,127,614,100 - S e A e




(&l
o84
T o= A exa | ga | ARESS) a= ) oz L
& SrRFOH A 21OH bﬁ]ﬁ%g A &+ OH
Al 282,243,070 0 0] 144,490,840 5,000,000| 132,752,230
HtO| @ &FS 1H 205,281,770 - —1144,490,840| 5,000,000| 55,790,930
IS EA=Z I 75,366,400 - - - -| 75,366,400
HIOIQARIR 1,594,900 - - - - 1,594,900
A=d] &
O HFAFY L
oMM
O 3 FAE gl
ofl 0] A
(el
3= Sz = OlA
Ol AF2H =1UNN; =
A A NS AFS === 2ol SH axn
SIAEFE 06-0
HIO| @ AFH 1} | AP AT =‘=o:1:1 2,800,000,000 2,800,000,000
HE(HEALY) | =2 2020- | ZEjEO 2
FESFE 306-01 01-08 | Q5+ Cict EI b4y
SIMEMSZ I | MHA AL =0i0 2,800,000,000
HE(HBIALR) | ===
aporq | BEE SEl (20208
HIO| 2 AHH 1} SARAIS 20| 2o/o120iH| 10,000,000 10,000,000 oo | EE B 02
PR 01-08 | 0I5} CiTt EI BHA
=| K| =) 9*&% ErE' 20202 e e 8 o




= e o Ol A
Oif & €8 0ol | Al =

HEAY | S0 o | BN gy
R s s k] 2020-| XY BO2
30810 01-08| Q18 £t E! 1

StdE HE
SISINEES,

S)[2S0l0fet

BAREAE|

308-10
2o12S0oE

SARSIENRH|

308-10
I [2S0l0Hst

SURPEAZY]

2020-
01-08

AZINE0 2
Ol AFOI A

202-01
=18 (1]

ol o
(=S

0 &
2
Jhor T2
[

202-01
=LHOI]

2020-
01-08

AZINE0 2
Ol &HOTHI

ool O
Sy

o T2

Ho =
)
>

208-03
NEESS

e u]

208-03
JNEESS

ge=dl

2020~
01-08

AZINE 2
Ol &HOI A

308-10
S)[2S0l0et

BAREN|

1,670,000,000/ 1,670,000,000

308-10
) ZS0lcHE

SARSIEMRH|

1,670,000,000

2020~
01-08

AZINE0 2
Ol &HOT A

201-01

A2t

J2IHK
BIOIRARS 012
HEAY =4

201-01
A2t

2020~
01-08

AZDREN TE
Ol &HOTHI

MY
BIO QAR O

IHEAE =d

308-10
S| 2S00t

SR PEARY

MEPI PN
BI04 o2
HEASY =4

308-10
20 2E0lcH3

SBURPEAIZH]

2020-
01-08

AZDREN T2
Ol &HOI I




o= d==o Ol
O] & o sol | A =
NN M2 AFS SH= 2 =0 ol T}
e 21217 202-03
IRERHAZI Aol 24 29/24201H| 5,000,000 5,000,000 ol I
01-08 %%* g ‘jd%iL
o|lzJ|) 202
sloleaeint | (et (20 5,000,000
308-10
o|l=2
SN2 ;{;3'3 | |2omsoicker | 804000000 804,000,000
== ZAEREARZH] 2020~ | XXDHOR 0I5t
- 08| EEE HH
ol oaetg | 2D 0 01-08
—= e FANIEA I

(6] ofld|H]

O A fl+

0

O] & Al S HI
O ol¥dde mAolYd F 1HdCE 58009l F8 AFE

ol emz H4s Fd ArgduE AvmEHe wE

(Gt @ &)
T T Off A &4 OH X 0l o H
H(1A) 200,000,000 136,500,000 58,500,000 AE L
20203 HH =
Ejg% AIOIZ(121) 200,000,000 136,500,000 58,500,000%4?8*1?:’2*




HE o/

2.

O 20203 A ¢

RTFAL

3t

A ¥

A5

Z
ax

Z ol BtA

So] wel %

L]

M

B

F71 whs

IAHo= Hes

;'(

374 &
bl AAS dol Wa

S

3}
g

ol o

A

S
i=]

o=

O AWA ARAF

- 481%, H}o]

- 70%, =E A4 vo)



